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Questionl:-Which of the following statement is/are correct about the 'Foundation
of Western Education in the Malabar area'?

Statements :

l. In 1848 the Basel Evangelical Mission started a primary school in Kallayi.

II. In 1856 the Basel Evangelical Mission started an English school in Tellicherry.

A:-The statement | is correct but the statement Il is incorrect
B:-The statement | is incorrect but the statement Il is correct
C:-The statements | and Il are correct

D:-The statements | and Il are incorrect

Correct Answer:- Option-C

Question2:-Which of the following statement is/are correct about the
'Ramakrishna Mission and Swami Vivekananda'?

Statements :

I.  The Ramakrishna mission was officially published in 1887 by Swami
Vivekananda.

[I. Narendra Nath Dutta was the real name of Swami Vivekananda.

[ll. The Ramakrishna mission was formally registered under Societies Registration
Act in 1909.

A:-The statements | and Il are correct but the statement Il is incorrect
B:-The statements | and Ill are correct but the statement Il is incorrect
C:-The statements Il and Il are correct but the statement I is incorrect
D:-All of the statements are correct

Correct Answer:- Option-D

Question3:-Match the following column 'A' and column 'B' and choose the correct
options :

Column A Column B
I.  Moyarath Sankaran A. Swabhimani
[I. T R Krishna Swami B. Kerala Kesari
[ll. Subrahmanyan Thirumumbu C. Yuva Bharatham
IV. A K Kunjikrishnan Nambiar D. Desabandhu

A:-1-B, 1I-D, 11I-A and IV-C
B:-I-B, 1I-C, IlI-D and IV-A
C:-I-C, 1I-B, 1lI-D and IV-A



D:-I-D, lI-C, IlI-B and IV-A
Correct Answer:- Option-B

Question4:-Which of the following statement is/are correct about the 'Labours
movement in Malabar'?
Statements :

I.  The Railway labours strike of 1928 is the one of the first remarkable
labours

movements in Malabar.

lI. Under the leadership of Congress Socialist Party, the Faroke tile factory
labours

strike was held in 1935
A:-The statement | is correct but the statement Il is incorrect
B:-The statement | is incorrect but the statement Il is correct
C:-The statements | and Il are correct
D:-The statements | and Il are incorrect
Correct Answer:- Option-C

Question5:-ldentify the place in the following options, that recently (2025)
discovered the fossils of Pterosaurs (believed 20.9 crore years old)

A:-Olduvai Gorge in Tanzania

B:-Altamira caves in Spain

C:-Heidelberg in Germany

D:-Petrified Forest National Park in North America
Correct Answer:- Option-D

Question6:-Which of the following statement is/are correct about the 'Indian
National Congress'?
Statements :
l. In 1897 the Amaravathi session of the Congress, a Malayali (Chettoor
Sankaran
Nair) was elected as its president.
[I.  Chettour Sankaran Nair was the only one Malayali, who elected as the
president of
Indian National Congress, till the time of 1947.

A:-The statement | is correct but the statement Il is incorrect
B:-The statement | is incorrect but the statement Il is correct
C:-The statements | and Il are correct

D:-The statements | and Il are incorrect

Correct Answer:- Option-C

Question7:-Which of the following statement is/are correct about the 'Anti-Simon
Commission Agitation and Madras Congress Session of 1927'?

Statements :

l. Dr. Ansari was presided over the Madras Congress session of INC in 1927

[I.  The Madras Congress session passed the resolution to boycott the
commission.



llIl.  On February 3, 1928 the Simon Commission was landed in Calcutta.
A:-The statements | and Il are correct but the statement Ill is incorrect
B:-The statements | and Ill are correct but the statement Il is incorrect
C:-The statements Il and lll are correct but the statement | is incorrect
D:-All of the statements are correct

Correct Answer:- Option-A

Question8:-Which of the following statement is/are correct about the 'Responsible
government in Travancore'?

Statements :

I. In 1888 the Sree Mulam Legislative council was founded.

[I. In 1904 the Sree Mulam Legislative council was reformed as Sree Mulam
Prajasabha.

A:-The statement | is correct but the statement Il is incorrect
B:-The statement | is incorrect but the statement Il is correct
C:-The statements | and Il are correct

D:-The statements | and Il are incorrect

Correct Answer:- Option-C

Question9:-Which of the following statement is/are correct about the 'All India
Radio Kozhikode Station'?
Statements :
l. The All-India Radio Kozhikode station was started on 1950
I. P Bhaskaran the prominent figure of Malayalam cinema and literature
was
worked at All India Radio Kozhikode station.

A:-The statement | is correct but the statement Il is incorrect
B:-The statement | is incorrect but the statement Il is correct
C:-The statements | and Il are correct

D:-The statements | and Il are incorrect

Correct Answer:- Option-C

Questionl0:-Arrange the following statements in chronological order
Statements :
l. The Samadhi (death) of Vagbhatananda.
Il The Samadhi (death) of Brahmananda Sivayogi.
lll.  The Samadhi (death) of Chattampi Swamikal.
IV. The Samadhi (death) of Sri Narayana Guru.

A:-Statements : I, Il, lll and IV is the correct order
B:-Statements : I, IV, Il and | is the correct order
C:-Statements : Ill, Il, IV and | is the correct order
D:-Statements : I, lll, Il and IV is the correct order

Correct Answer:- Option-B
Questionll:-Identify the Malayali player from the following, recently selected



(2025) the team member of Indian Soft Baseball, into play the Asia Soft Baseball
games conducted at Nepal.

A:-Abhishek T Kosi
B:-Manisha Joseph
C:-Suryakumar
D:-Abhinandan

Correct Answer:- Option-A

Question12:-Which of the following statement is/are correct about the 'Guruvayur
Satyagraha'?

Statements :

l. The satyagraha was started on October 1, 1931.

. The captain of the volunteer corps was A k Gopalan.

1. T Subramanian Tirumumbu was the captain of the temple entry
campaign.

A:-The statements | and Il are correct but the statement Il is incorrect.
B:-The statements | and Ill are correct but the statement Il is incorrect.
C:-The statements Il and Ill are correct but the statement | is incorrect.
D:-All of the statements are correct.

Correct Answer:- Option-C

Question13:-Match the following column 'A' and column 'B' and choose the correct
options :

Column A Column B
.  Manaveda Raja A. Thandrasamuchayam
[I.  Thunjath Ramanujan Ezhuthachan B. Krishnageethi
[ll. Chennas Narayanan Nambuthiri C. Rukmineeswayamvaram
IV. Kunjan Nambiar D. Kaivalyanavaneetham

A:-1-B, 1I-D, 1lI-A and IV-C
B:-I-B, 1I-C, IlI-A and IV-D
C:-I-C, lI-B, llI-D and IV-A
D:-1-D, II-C, 1lI-B and IV-A
Correct Answer:- Option-A

Question14:-Which of the following statements is/are correct about the ‘Ghaddar
party'?

Statements :

l. In November 1913 the Hind Association of America was founded by
Tarakanath Das.

II.  The Hind Association of America decided to publish a weekly paper
Ghadhar or

Hindustan Ghadar.
[ll.  Lala Hardayal was the guiding spirit of the Ghadhar party movement.

A:-The statements | and Il are correct but the statement Ill is incorrect.
B:-The statements | and Il are correct but the statement Il is incorrect.



C:-The statements Il and Il are correct but the statement | is incorrect.
D:-All of the statements are correct.
Correct Answer:- Option-C

Question15:-Which of the following statement is/are correct about the
‘Swadesabhimani Ramakrishna Pillai'?
Statements :
[. In 1910 he was elected as a member of Sree Mulam Prajasabha.
[I. He found the newspaper Swadesabhimani in 1906.

A:-The statement | is correct but the statement Il is incorrect
B:-The statement | is incorrect but the statement Il is correct
C:-The statements | and Il are correct

D:-The statements | and Il are incorrect

Correct Answer:- Option-A
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Correct Answer:- Option-C
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Correct Answer:- Option-B
Question92:-$skwall il oyl
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C:- =xdlg sl

D:-sloadl

Correct Answer:- Option-C
Question93:-Tlia S& (o

A:-<laawdl

B:-Lo, VI
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D:-zlJ!

Correct Answer:- Option-A
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Azl

B:-gg0aJl

C:- uall

D:-<laJl

Correct Answer:- Option-C
Question95:-S o, Yl Jjl& oo
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B:-<luall

C:- el

D:- ol

Correct Answer:- Option-A
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A:-clggll

B:-<lgaJl

C:-clasll

D:-<lawdl

Correct Answer:- Option-C
Question97:-Yazall o b



A:-¢lall

B:-dodi

C:-dosi

D:-azlg

Correct Answer:- Option-C
Question98:-T ywlWl sSiw bl

A:-diiall

B:-ailaJl

C:-dasill

D:-aadJl

Correct Answer:- Option-B
Question99:-Sailadl cuway o

A:-plalall

B:-<lga]l

C:-aolJI

D:-alaswuYl

Correct Answer:- Option-A
Question100:-% sl bxl) da0jY o b

A-alosiusi

B:-daslol

C:-L9lw]

D:-Glail

Correct Answer:- Option-A



